@YRE

® 12400 Earl Jones Way
Louisville, KY 40299
Customer Service: 800-626-1126

Innovation through Organization”

INSTALLATION INSTRUCTIONS / INSTRUCCIONES DE INSTALACION / INSTRUCTIONS D’INSTALLATION

TIP-OUT TRAYS / BANDEJAS BASCULANTES / COMPARTIMENTS BASCULANTS

TOOLS REQUIRED:

HERRAMIENTAS REQUERIDAS:

OUTILS REQUIS:

CARE AND MAINTENANCE:

CUIDADO/ENTRETIEN:

Clean with a damp cloth and
wipe parts dry.

Limpie con un pario himedo y
seque las partes.

Nettoyez avec un linge humide et
essuyez les piéces pour les secher

complétement.

VIDEO TUTORIAL

VIDEO TUTORIAL / TUTOTIEL VIDEO

PARTS LIST / LISTA DE PIEZAS / LISTE DES PIECES

No. Description / Descripcién / La description Qty.
A Tip-Out Tray / Bandejas basculantes / Compartiments basculants 1 or2*
Hinges / Bisagras / Charniéres 2 or4*
c #8 x 1/2" Truss Head Screws 8 or 16+
Tornillos con cabeza reforzada #8 x 1/2 / Vis a téte bombée #8 x 1/2
D #8 x 5/8" Flat Head Screws 8 or 16+
Tornillos de cabeza plana #8 x 5/8 / Vis a téte plate #8 x 5/8

*Dependent on unit purchased / Depende de la unidad comprada / Dépend de I'unité achetée

WWW.REV-A-SHELF.COM/VIDEQOS

@MU-A-SHGLF Customer Service: 800-626-1126 | rev-a-shelf.com |-TIPOUT-0525



0O

Trace the corners of the cabinet opening on the back side of the panel using a
short pencil. Then, remove the front panel from the cabinet and set it aside.

Trace las esquinas de la abertura del gabinete en la parte posterior del panel
utilizando un lapiz corto. Luego, retire el panel frontal del gabinete y déjelo a un

lado.

Tracez les coins de I'ouverture de I'armoire sur I'arriére du panneau a l'aide d'un
crayon court. Ensuite, retirez le panneau avant de I'armoire et mettez-le de coté.

FRONT

BoOOW

Cut out the Hinge Template on page 3 and place it flush with the front and bottom
edge of the cabinet opening. Mark the hole locations and pre-drill the holes.

Recorte la plantilla de bisagra en la pagina 3 y coléquela al ras con el borde frontal
e inferior de la abertura del gabinete. Marque la ubicacion de los orificios y taladre
previamente.

Découpez le gabarit de charniére a la page 3 et placez-le a ras du bord avant et

inférieur de I'ouverture de I'armoire. Marquez I'emplacement des trous et percez-les

au préalable.

BHoOo W

Cut out the extension Template on page 3 and place it along the marked lines on
the back of the removed front panel. Mark and pre-drill the hole locations.
Note: Be careful not to drill through the front panel.

Recorte la plantilla de extensién en la pagina 3 y coléquela sobre las lineas
marcadas en la parte posterior del panel frontal retirado. Marque y taladre
previamente las ubicaciones de los orificios.

Nota: Tenga cuidado de no perforar completamente el panel frontal.

Découpez le gabarit d'extension a la page 3 et placez-le le long des lignes
marquées a ['arriére du panneau avant retiré. Marquez et percez préalablement les
emplacements des trous.

Remarque : Faites attention de ne pas percer a travers le panneau avant.

Attach the Hinges (B) to the panel using (4) #8 x 1/2 Truss Head Screws (C).

Fije las bisagras (B) al panel utilizando cuatro (4) torillos de cabeza redonda tipo
truss #8 x 1/2 (C).

Fixez les charniéres (B) au panneau a l'aide de quatre (4) vis a téte bombée type
truss #8 x 1/2 (C).

@REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com



Position your Tip-Out Tray(s) (A) so that they will clear the face frame and the sink.
Mark and pre-drill the hole locations for the screws, then set aside the Tip-Out
Trays (A).

Coloque sus bandejas abatibles (A) de manera que no interfieran con el marco
frontal ni con el fregadero. Marque y taladre previamente los orificios para los
tornillos, luego deje a un lado las bandejas abatibles (A).

Positionnez vos plateaux rabattables (A) de fagon a ce qu'ils dégagent le cadre
avant et I'évier. Marquez et percez les emplacements des vis, puis mettez les
plateaux rabattables (A) de coté.

7 OO

Attach Hinges (B) to the cabinet frame using (4) #8 x 5/8" Flat Head Screws (D).

Fije las bisagras (B) al marco del gabinete utilizando cuatro (4) tornillos de cabeza
plana #8 x 5/8" (D).

Fixez les charnieres (B) au cadre de I'armoire a l'aide de quatre (4) vis a téte plate
#8 x 5/8" (D).

0o d

Partially install (2) #8 x 1/2" Truss Head Screws (C) into the panel.
Note: Leave space for the trays to slide down into the keyhole openings.

Instale parcialmente dos (2) torillos de cabeza redonda tipo truss #8 x 1/2” (C) en
el panel. Nota: Deje espacio para que las bandejas se deslicen hacia abajo en las
aberturas en forma de ojo de cerradura.

Installez partiellement deux (2) vis a téte bombée type truss #8 x 1/2" (C) dans le
panneau. Remarque : Laissez de |'espace pour que les plateaux puissent glisser
dans les ouvertures en trou de serrure.

wQ

Attach the Tip-Out Trays (A) by sliding them onto the screws through the
keyholes. Once in place, tighten the screws to secure.

Coloque las bandejas abatibles (A) deslizéndolas sobre los tornillos a través de las
aberturas en forma de ojo de cerradura. Una vez en su lugar, apriete los tornillos
para fijarlas.

Fixez les plateaux rabattables (A) en les glissant sur les vis a travers les ouvertures
en trou de serrure. Une fois en place, serrez les vis pour les sécuriser.

~J1HS-P-AN

J1IVIdINTL
IDNIH

©

o

-]

@REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com



@REV-A-SHELF
Innovation through Organization™

® 12400 Earl Jones Way
° ® Louisville, KY 40299
rev-a-shelf.com

B . . Customer Service: 800-626-1126
Innovation through Organization"




